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A

public A appendTo(A appendable, Iterator parts) throws IOException {

checkNotNull(appendable);
if (parts.hasNext()) {

appendable.append(toString(parts.next()));

while (parts.hasNext()) {
appendable.append(separator);

appendable.append(toString(parts.next()));

}
}

return appendable;

}
RiR2:

public final A appendTo(A appendable, @Nullable Object first, @Nullable Object second, Ob

ect... rest) throws IOException {

return appendTo(appendable, iterable(first, second, rest));

private static Iterable iterable(final Object first, final Object second, final Object[] rest) {

checkNotNull(rest);
return new AbstractList() {
@Override public int size() {
return rest.length + 2;

}

@Override public Object get(int index) {
switch (index) {

case 0:
return first;

case 1:
return second;

default:
return rest[index - 2];
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